
/DWRB����

3UDFRZQLN�5R]NãDG���GU�-DVLęVND�-XVW\QD��7\J������
3

Q
:

W
ģ

U

�������������7\J���������
���������

3UDZR�URG]LQQH�L
RSLHNXĔF]H��Z�� GU
-DVLĔVND�-XVW\QD� =%�
����� :)+�35$�'����:

�������������7\J��������

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNL���Z�� GU
-DVLĔVND�-XVW\QD� =%�
����� :)+�35$�'����:

2VWDWQLH�]DMĊFLD����PLQ�
�������������

F]
Z

DU
WH

N
3

W

�������������7\G]��

(OHPHQW\�SUDZD�F\ZLOQHJR��Z��GU�-DVLĔVND�-XVW\QD� =
%������ 63�:)+�$3���

�������������7\G]��

��:\NáDG�VZRERGQHJR�Z\ERUX�����GU
-DVLĔVND�-XVW\QD� =%������ :)+�$'0�
6����:

6SDGNL�Z�SUDZLH�U]\PVNLP�L
ZVSyáF]HĞQLH

�������������7\G]���

(OHPHQW\�SUDZD�F\ZLOQHJR��Z��GU�-DVLĔVND�-XVW\QD� =
%������ 63�:)+�$3���

�������������7\G]��

��:\NáDG�VZRERGQHJR�Z\ERUX�����GU�-DVLĔVND
-XVW\QD� '(����� :)+�$'0�6����:

6SDGNL�Z�SUDZLH�U]\PVNLP�L�ZVSyáF]HĞQLH

�������������7\G]���

1DXND�R�PDWHULDáDFK��ODE��GU�-DVLĔVND
-XVW\QD� $%������ :03�,%�=����/

VR
ER

WD

�������������7\G]���

(OHPHQW\�SUDZD�F\ZLOQHJR��NQZ��GU�-DVLĔVND
-XVW\QD� =%������ 63�:)+�$3���

�������������7\G]��

��:\NáDG�VZRERGQHJR�Z\ERUX�����GU�-DVLĔVND
-XVW\QD� =%������ :)+�$'0�6����:

6SDGNL�Z�SUDZLH�U]\PVNLP�L�ZVSyáF]HĞQLH

�������������7\G]��

3UDZR�URG]LQQH�L�RSLHNXĔF]H��Z��GU�-DVLĔVND�-XVW\QD�
=%������ :)+�35$�:����:

�������������7\G]��

3UDZR�URG]LQQH�L�RSLHNXĔF]H��Z��GU�-DVLĔVND�-XVW\QD� =%������ :)
+�35$�:����:

�������������7\G]���

3UDZR�URG]LQQH�L�RSLHNXĔF]H��Z��GU�-DVLĔVND�-XVW\QD�
=%������ :)+�35$�:����:

�������������7\G]��

3UDZR�F\ZLOQH�,,��SUDZR�U]HF]RZH�L�VSDGNL���Z��GU
-DVLĔVND�-XVW\QD� '(����� :)+�35$�:����:

�������������7\G]��

��:\NáDG�VZRERGQHJR�Z\ERUX�����GU�-DVLĔVND
-XVW\QD� =%������ :)+�$'0�6����:

6SDGNL�Z�SUDZLH�U]\PVNLP�L�ZVZSyáF]HĞQLH

�������������7\G]��

3UDZR�F\ZLOQH�,,��SUDZR�U]HF]RZH�L�VSDGNL���Z��GU
-DVLĔVND�-XVW\QD� =%������ :)+�35$�:����:

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



/DWRB����

3UDFRZQLN�5R]NãDG���GU�-DVLęVND�-XVW\QD��7\J������

�������������7\G]���

3UDZR�URG]LQQH�L�RSLHNXĔF]H��Z��GU�-DVLĔVND�-XVW\QD�
=%������ :)+�35$�:����:

�������������7\G]���

3UDZR�URG]LQQH�L�RSLHNXĔF]H��Z��GU
-DVLĔVND�-XVW\QD� =%������ :)+�35$�
:����:

�������������7\G]���

3UDZR�F\ZLOQH�,,��SUDZR
U]HF]RZH�L�VSDGNL���Z�� GU
-DVLĔVND�-XVW\QD� =%�
����� :)+�35$�:����:

QL
HG

]L
HO

D

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


